Pizitz 2010 Mathematics Tournament

Sixth Grade Written Test

  1.   Simplify:  3(24 ( 6 – 2).

A.  18


B.  6

  
C.  10 


D.   9


E.  NOTA
  2.   In how many ways can Jamie, Austin, Cody, WeiJa, and Mrs. Chilton form a line if Mrs. Chilton must 

        always be last in line?
           A.  120


B.  20


C.   256

D.  24


E.  NOTA
  3.   Emmy bought 4 gel pens at 89¢ each.  The tax for the four pens was a total of 21¢.  She paid with a 
        five-dollar bill.  What was her change?

A.  60¢


B.  $1.44

C.  $1.23 

D.  $3.88 

E.  NOTA

  4.   Creating a pictograph, Soojung begins at the point (–2, 5).   She moves up 6 spaces and to the right 
        5 spaces to make her next point.  What are the coordinates of the next point?

A.  (–7, 11) 

B.  (4, 10)

C.  (–7, 10) 

D.  (4, 11)

E.  NOTA
                                                                                                                                                                                                 (3, 11)
  5.  Jimmy enjoys taking apart old calculators.   It takes Jimmy 3 minutes to take apart the first calculator.   

       With each successive calculator, Jimmy shaves ten seconds off his time.  Which calculator will take Jimmy 

       only 1 1/3 minutes to take apart?  


A.  6th 


B.  12th  

C.  9th 


D.  11th 

E.  NOTA
  6.   Simplify:  
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A.  1 5/7

B.  1.4 


C.  1.2


D.  1 23/320

E.  NOTA

  7.   Solve:   8y + 17 = 21.

A.  0.5


B.  2


C.  4

 
D.  4.75

E.  NOTA
  8.   Simplify:  
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B.  – 4 


C.  6 


D.  0


E.  NOTA 
  9.  What is 5.23 ( 105 in standard notation?

A.  523,000 

B.  5,230,000

C.  52,300

D.  52,300,000

E.  NOTA

10.   What is the sum of the next three terms in the sequence 1, 1/2, 3, 3/4, 5, 5/6, 7, __, __, __?

A.  9 55/72

B.  10 31/40

C.  9 17/18

D.  10 1/5

E.  NOTA

11.  Sergey wrote the letters of his last name, Krendelshchikov, on pieces of paper, one letter per piece of 

        paper.  He put all of the pieces in a bag and blindly drew one piece.  What is the probability that he drew 
        an h?


A.  2/15


B.  2/13


C.  1/7
 

D.   1/6


E.  NOTA
12.  A certain square has an area of 9 square units.  Twenty-four of these squares are arranged in a rectangle. 
       What is the difference between the greatest possible perimeter and least possible perimeter?

A.  32


B.  98 


C.   84 


D.   90 


E.  NOTA
13.  Sophie ran 102013 miles farther than Silin.  If Silin ran 6 miles, how many miles in base ten did 

       Sophie run?

A.  94 miles

B.  3406 miles             C. 106 miles

D.  3394 miles

E.  NOTA

14.  If j ♥ k means k2 – jk, what is (5 ♥ 3) ♥ 2?

A.  0


B. 15


C.  30


D.  80 


E.  NOTA


15.  Jack took a piece of 8.5" by 11" paper.  He folded the paper once so that 
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       and 
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each measure 8.5 inches.   What is the area of quadrilateral ABDE? 


A.  53.25 in2

C.   46.75 in2

                    B.  57.375 in2 

D.   56 in2

E.  NOTA

16.  In January, record lows were recorded in the north.  Over five days the lowest temperatures were 

       –8°,  –14°,  –2°, 3°, and –2°.  What is the sum of the range and mode?

A. 19


B.  –19


C.  15


D.  –15  

E.  NOTA

17.   Twice a number less fifteen is seventy-three.  What is the sum of the digits of the number?

A.  6


B.  3


C.  7


D.  8


E.  NOTA

18.  If C = 13 – 21 and 3D = 17, what is D + C?


A.  –2 1/3
 
B.  –13 2/3

C.  3 1/3

D.  13 2/3

E.  NOTA
19.  Blooming Park has a rectangular shape.  It measures 7 hectometers by 

       24 hectometers.  A straight path lined with seasonal flowers goes from the 
       southwest corner to the northeast corner.  What is the length of the path?
           A.  62 hm

B.  25hm

C.  84 hm 

D.  31 hm 

E.  NOTA
20.   Siyin bought a dress that was originally priced $96.  It was first discounted 30%, and then marked down an 

        additional 20%.  What was the final sale price of the dress?

A.  $46


B.  $48


C.   $53.76

D.   $57.60

E.  NOTA

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


 
22.  If A = the number of primes less than thirty, B = the additive inverse of six, and C = the number of sides in 

       a dodecagon, what is A + B + C?

A.  16


B.  15


C.  17


D.  14 


E.  NOTA

23.  A Zero® candy bar costs 78¢.  In order to share with his friends, Ziqi made 3 equally spaced parallel cuts  

       across a Zero® candy bar and gave a piece to each of his friends.  What was the average cost per piece of 

       candy?


A.  26¢


B.  39¢ 

C.   19.5¢ 

D.  15.6¢

E.  NOTA

24.   If  3x + 23 = x – 9, what is x + 3?

A.  –5


B.  –16 

C.   10


D.  –13


E.  NOTA

25.  A box of cereal is 3 in. by 2/3 ft. by 1 ft.  It is filled completely at the factory, but after a month, the cereal 

       settles and loses 20% of its original volume.  How many cubic inches of cereal remain after settling?

A.  231.6 in3 

B.  230.4 in3

C.  259.2 in3

D.  257.6 in3 

E. NOTA

Tiebreakers  Please write each tiebreaker answer on the top margin on the back of the scantron.
TB 1.  Gennie took 36 pictures of the snowman she built.  She gave one-third of the pictures to Andrea, and 

           then gave one-fourth of the remaining pictures to Wendi.  How many pictures did Gennie have left?  18
TB 2.   What is thirty-four hundredths minus fifty-two thousandths?   36/125   or  0.288
TB 3.   A semi-circle has a radius of 5 cm.  What is its perimeter?  Use 3.14 for pi.     25.7 (cm)
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 21.  Find the area of the triangle ABC. 





    	 A.  9 sq. units		C.  8.75 9 sq. units		





   	 B.  9.4 sq. units	D.  9.75 sq. units	E.  NOTA
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